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1.
2.
3.

11,

12.

13.

F,+H,=2HF
F,+2Na=2NaF
F,+2K =2KF
F,+Mg=MgF,
F,+ Ca=CaF,
3F,+2A1=2AI1F,
2F,+ Si=SiF,
3F,+ 2P =2PF,
5F, + 2P = 2PF,
3F,+ As= AsF, (B
6F,+25=2SF,

3F;+ 8NHg=6NH,F + N,¢



14. F,+ 4NO =N, + 2NO,F
15. F,+$0,=S0,F,

16. 2F,+2NaOH =2NaF + OF, + H,0

17. F,+ NaBrO; +2NaOH = NaBrO, + 2NaF + H,0

(2) Sk

18. 2HF =H,+ F, Gl ' .
19. 6HF + Ti=H,TiF,+ 2H,}

20. 2HF + BeO = BeF, + H,0O

21. 2HT + MgO = MgF, + H,0

22, 4HF +S5i0, =SiF 1 + 2H,0

23. 2HI' + ZnO =ZnaF,+ H,0

24. HF + NaOH = NaF + H,0
25. 2HF + Ca(OH),=CaF, +2H,0
26, 2HF + Co(OH),=CoF, + 2H,0

270 4I‘IF(48%) + HsBOs-’: HBF‘+3I“IZO s
28. 6HF + H,5i04=H,(SiF,3+3H,

29. 4HF + BN= NH,BF,
30. 2HF + SiF ==H,SiF,
31. 4HF + Na,CO4=2NaHF, + H;0 + CO,4



32. 2HF + Cs,C0,4=2CsF + H,0 + CO,}
33. 6HF0%) + Cs,COg+ SnCl, &%)
=Cs,SnFgy+ 4HC1 + H,0 + CO,}
34. 2HF + MgCQOy = MgF, + H,0 + CO,?
35. 2HF + CoCO4= CoF,+ H,0+ CO,t
36. 2HF + NiCQO; = NiF, + H,0 + CO,?t
37. 6HF + Na,SiOq = 2NaF + SiF, + 3H,0 (mZe)
38. 6HF + Na,SiOq = Na,SiF, + 3H,0
39. 6HF + CaSiO, = CaF, + SiF,f + 3H,0
40. HF + NaNO;= NaF + HNQ;, 25°C)
41. 6HF + Ti(50)), (&)
=H,TiF, (&) +2H,S0,
42. 3HF +2K,Se0,= KHSe,0,+ 3KF + H,0
43. 2HF (&%) +K,Cr,0,=2Cr0, + 2KF + H,0
44, 2HF + K,Cr,0, = 2KCrO,;F + H,0
45. 28HF + CaNa,Si,0,,
= Na,SiF o+ CaSiF, + 45iF,} + 14H,0
B
28HF + Na,0.Ca0.6Si0,
=2NaF + CaF, + 6SiF } + 14H,0

(3 &\t

46. Li,Fy+2HNO,=2LiNQO,+ 2HF4

47. Li, I, + H,50, =Li,S0, + 2HF1 (m)

48. Li,F,+2HNOy+ H,0 = (LiNOy),* H,0 + 2HF}
3

e

/



49.

50.
5l.

52.

58.

64.

Li,F,+2HCIO, + 3H,0
=2LiCl0, 3H,0 + 2HF}

6NaF + Si0, + 4HCI = Na,SiF 4+ 4NaCl + 2H,0
Na,SiF,+4NaOH =6NaF + Si(OH), GEREP)
2NaF + SiF, = Na,SiF,

. 2NaF +CaCl; =CaF,} +2NaCl
. 2Nal' + BaCl, = BaF,] + 2NaCl

NaF + PbCl, = PbFCl + NaCl

. 6NaF + FeCly= Na,FeF | + 3NaCl

6NaF + Fe(SCN),
= Nag[FeF, (%) + 3NaCNS
Na,SiF 4+ 2Na,CO,4 + H,0
=6Nal + H,5i0, + 2CO,1 (M)

K,SiF ¢+ 3H,0 = 2KF + H,S5i0, + 4HF}  (#74)
4KF +4MnO, :
=2K,0 + 4MnO + 2F,1 + 0,4 (i
6KF + AI(OF) = AlF+3KF + 3KOH
2KF + 2KNOg = F,1 + 0,1 + 2K,0 + 2NOt (i)
2KF +2CuSO, + H,0
= CuF (OH) + CuK,(S0,), + HF}

2(NH,),F, + Be (OH),
= BeF,*2NH,F} + 2NH,t + 2H,0



65,
66.

67.

68.

69.

70.

71,

72.

73.

74.
75.

76.
77.

78.

79.

MgSiF, + 2H,0 = Mg (OH),} + H,SiF,
MgSiF,+ 4NaOH#o
= 4NaF + 2H,0 + $i0, + MgF,

CaF, +S5i0,+ H,0 = CaSiO4+ 2HF} Um#)
3CaF,+ B,0,+ 3H,S0,

=2BF,+3CaS0O,+3H,0 (m#
2CaF, + Si0O, + 2H,S0, = 2CaSO, + 2H,0 + SiF,}
Cal,+H,SO,(#&) = CaSO, + 2HF?} ()
CaF,+4C + Na,SO, = 2NaF + CaS+4CO} Fig)
3CaF,+3S5i0, + 6Na,CO;,

=3CaCO; + 3Na,Si04 + 6NaF +3CO,}

(F%¢)

BaF,+ Na,CO;=BaCO,} + 2NaF €% 3

2InFe+3H,=2In} + 6HF  (B#mM)
2InF,+3H,0 = 1n,0,} + 6HF (&%)

4AgF +2Cl,+ Pb=4AgCl} + PbF, (L
16 AgF +8Cl, + 8H,0

=14AgCH +2AgCl0, + 16HF + 0,4 (i)
16 AgF + 8Br, + 8H,0

=14AgBr| +2AgBrO, + 16HF + 0,4 @t



80.

81.

82.

83.

3SiF, + 3H,0 = 2H,SiF ,+ H,Si0,
2N, RIERR = 2N, + N,F,
2PFy+ 0, = 2POF,
SFe+3H,5=6HF +45  (ntw

4BrI" = 2BrF, + Br,

. 3BrI;+5H,0 = HBrO4 + 9HF + O,} + Br,

. XeF,+2H,=Xe+ 4HF

6XelF,+12H,0 = 24HF + 4Xe + 2XeO, + 30,1

. 2Xel,+2H,0=2Xe+4HF + 0,1
. XeFg+H,;0=XeOF,+2HF}

. 2XeF4+5i0,=2XeOF, + SiF,

. XeF +4NO=4NOF + Xe

. XeF +4NO,=4NO,F + Xe

XeF +4HCl=Xe + 4HF + 2Cl,4
XeF,+HCIO = FXeClO, + HF ¢
Xel, + HSO4F = FXeSO,FF + HF ¢
Xel", +25bF¢=XeSb,F,, + F,?t
3XeF(+4BCly=4BF,+6Cl, + 3Xe
XeF,+2C,H,

= CH,F+CH,F + CHy+CHF, + Xe

/e



99. XeOF,+ XeOy=2Xe0,F,

() 4 «ChH

(1) B8R

100. Cl,+H,=2HCI (R
101. Cl,+2Na=2NaCl
102, Cl,+ Mg=MgCl,
103. Cl,+ Ca="CaCl, (n#)
104. 3Cl,+2A1=2AICl (i #)
105. 3Cl, +2Ga=2GaCl,
106, Cl +In=1nCl,
(SERRBER, EESES M
107, 3CL(F#) + 2In(99.98 %4 ) = 21nCl,
(FRECO MM HCL N HE E 1o K
108. 2Cl,+ C = CCl,
109. Cly+ C + MgO = MgCl, + CO? (2300°C)
110. 6Cl, +3C +2B,0, = 4BCl;+ 3CO,4 (877°CHL k)
111. 3Cl, +3C + Al,04=2A1Cl; + 3CO? ()
112. 2C1, +2C+ TiO,= TiCl, + 2CO*% (800-900°C)
113. 2Cl, + Ge = GeCl, (80°-180°C)
114. 3Cl, + 2P =2PCl, (TRESLSSIEBRAER
115. 5Cl,G38) + 2P = 5PCl,
116. 3Cl,+ 2As=2AsCl, €1 )
117, 10C}; + As, +16H,0 = 4HgAsO, + 20HCI



118.
119.
120.
121.
122,
123.
124.
125.
126.
127,
128.

3Cl, +25b=2SbCl,

3Cl, + 2Bi = 2BiCl,

Cl, + 2SU#) = 5,Cl,

Cl,(dif) + 2SU&y» = S,Cl,

Cl, + 2Se = Se,Cl,

Cl, + Br,==2BrCl

Cl,+Br,+2H,0=2HOBr + 2HCI

5Cly+ Br, + 6H,0 = 2HBr O, + 10HCI

Cly,+ Br, + 2CsClL(¥#) = 2CsCl,Br}

5Cly+1I,+6H,0===2HIO; + 10HC!
L, +38l,+2CsCl=2CsCl I

(CsCliF TH R 5K R M)

Cly+ 1, +2CsCl(##) = 2CsCl,1

Cl, + Cu=CuCl, Cm#)

Cl,+2Ag=2A¢Cl Um#)

3Cl+2Au=2AuCl; Cm #)

Cly+ Zn=ZnCl, Cm#)

. Cly+Cd =CdCl, (R &)

. Cl,+2Hg=Hg,Cl, (m#%)
. Cly+ Mg =MgCl,

. 3Cl,+2Fe=2FeCl,

3Cl+Ir=1rCl, (360-400°C)

3Cl, + 2NH, = 6HCl + N,4
3C13 + BNH; = 6NH4CI+ Nzt



